

1.

$\text{NZD}(a, p) = 1, \quad a^{p-1} \equiv 1 \pmod{p},$
 $\text{NZD}(a, m) = 1, \quad a^{\phi(m)} \equiv 1 \pmod{m}.$
 $3^{90} \equiv 1 \pmod{91}, \quad 91 = 7 \cdot 13$
 $0 < p < a \quad a^{p-1} \not\equiv 1 \pmod{p}, \quad p$
 $a^k \equiv 1 \pmod{n},$

2.

1. n a $\text{NZD}(a, n) = 1.$
 $a^u \equiv 1 \pmod{n}.$
 $u = u(a, n)$
1. $u(3, 11) = 5, \quad 3^5 \equiv 1 \pmod{11}, \quad 3^i \not\equiv 1 \pmod{11},$
 $i \in \{1, 2, 3, 4\}.$
1. n $\text{NZD}(a, n) = 1$ $u = u(a, n).$
 $a^m \equiv 1 \pmod{n}, \quad m \in \mathbb{N}$ $u \mid m$
 $u \mid \phi(n)$
 $a^r \equiv a^s \pmod{n}$
 $r \equiv s \pmod{u},$
 $a^i \not\equiv a^j \pmod{u} \quad i, j \in \{1, 2, \dots, u\}, \quad i \neq j$
 $a^m \equiv 1 \pmod{n}$
 $\frac{u}{\text{NZD}(u, m)}$
 $a^m \equiv 1 \pmod{n}$ $m \mid u$
 $1, a, a^2, a^3, \dots$ n $u.$

$$0 \leq r < u, \quad a^m \equiv 1 \pmod{n}, \quad m, \quad m = uq + r, \\ a^m = a^{uq+r} = a^{uq} a^r, \quad a^r \equiv 1 \pmod{n}, \quad r > 0, \\ a^u \equiv 1 \pmod{n}, \quad u \mid m.$$

$$r = 0, \quad m = uq, \quad \dots \quad u \mid m.$$

$$m = uq,$$

$$a^m \equiv a^{uq} \equiv (a^u)^q \equiv 1 \pmod{n}.$$

$$) \quad a^{\xi(n)} \equiv 1 \pmod{n} \quad)$$

$$u \mid \xi(n).$$

$$) \quad r > s, \quad a^n \quad a^r \equiv a^s \pmod{n}$$

$$a^{r-s} \equiv 1 \pmod{n}, \quad u \mid (r-s) \quad \dots \quad r \equiv s \pmod{u}.$$

$$) \quad)$$

$$) \quad d = \text{NZD}(u, m), \quad u = ud, \quad m = vd,$$

$$(a^m)^{\frac{u}{\text{NZD}(u, m)}} = (a^m)^{\frac{ud}{d}} = a^{mu} = a^{uvd} = a^{(ud)v} = a^{uv} \equiv 1 \pmod{n}$$

$$t \quad (a^m)^t \equiv 1 \pmod{n}.$$

$$a^{mt} \equiv 1 \pmod{n}$$

$$u = u(a, n) \quad) \quad u \mid mt, \quad ud \mid vdt \quad u \quad v$$

$$u \mid t.$$

$$u = ud, u = \frac{u}{d} = \frac{u}{\text{NZD}(u, m)}$$

$$t \quad (a^m)^t \equiv 1 \pmod{n}$$

$$\frac{u}{\text{NZD}(u, m)} \quad a^m \quad n.$$

$$) \quad)$$

$$) \quad)$$

$$\mathbf{1.} \quad p > 2 \quad a \in \mathbb{Z}, \quad q$$

$$\frac{a^p - 1}{a - 1} = a^{p-1} + a^{p-2} + \dots + a + 1 \quad p \mid q - 1 \quad p = q.$$

$$q \mid a - 1, \quad q \mid a^{p-1} + \dots + a + 1 \equiv 1 + \dots + 1 + 1 = p \pmod{q},$$

$$q = p.$$

$$, \quad q \nmid a - 1, \quad a \quad q \quad p,$$

$$p. \quad q - 1,$$

$$p \mid q - 1.$$

$$\mathbf{2.} \quad \text{NZD}(a, n) = \text{NZD}(b, n) = 1 \quad u(a, n) \quad u(b, n),$$

$$u(ab, n) = u(a, n) \cdot u(b, n).$$

$$. \quad u(a, n) = R \quad u(b, n) = S.$$

$$(ab)^{RS} = a^{RS} b^{RS} = (a^R)^S (b^S)^R \equiv 1 \cdot 1 \equiv 1 \pmod{n}$$

1.) $u(ab, n) | RS$. R S , -
 r s $u(ab, n) = rs, rw = R$ $sx = S$.
 $r = R$ $s = S$.
 $(ab)^{rs} = a^{rs} b^{rs} \equiv 1 \pmod{n}$, $(a^{rs} b^{rs})^w \equiv 1 \pmod{n}$
 $(a^{rw})^s (b^{rw})^s \equiv 1 \pmod{n}$
, $a^{rw} \equiv 1 \pmod{n}$ $rw = R$ $b^{Rs} \equiv 1 \pmod{n}$. 1)
 $S = u(b, n) | Rs$ $NZD(R, S) = 1$ $S | s$, $s | S$, $S = s$.
 $r = R$,
 $u(ab, n) = RS = u(a, n) \cdot u(b, n)$.

3 () . n a
 $a^{n-1} \equiv 1 \pmod{n}$ $a^{\frac{n-1}{p}} \not\equiv 1 \pmod{n}$
 p $n-1$, n .
. $a^{n-1} \equiv 1 \pmod{n}$ $NZD(a, n) = 1$ 1)
 $u(a, n) | (n-1)$. p $p | (n-1)$, $a^{\frac{n-1}{p}} \not\equiv 1 \pmod{n}$
 $u(a, n) \nmid \frac{n-1}{p}$. , $u(a, n) | \frac{n-1}{p}$, $a^{\frac{n-1}{p}} \equiv 1 \pmod{n}$,
. , $u(a, n) | (n-1)$ $u(a, n) \nmid \frac{n-1}{p}$, p
 $n-1$ $u(a, n) = n-1$. 1) $\{ (n) = n-1$,
 n .

2. p , $k \in \mathbb{N}$ $m \in \mathbb{Z}$. p^k
 m $p^k | m$ $p^{k+1} \nmid m$. $p^k \parallel m$.

4. $p > 2$, $a \neq 1$ $n \in \mathbb{N}$. $p^k \parallel a-1$
 $p^l \parallel n$, $p^{k+l} \parallel a^n - 1$.
. $a = p^k B + 1$, B p .
 $a^n - 1 = (1 + p^k B)^n - 1 = np^k B + \binom{n}{2} p^{2k} B^2 + \binom{n}{3} p^{3k} B^3 + \dots + p^{nk} B^n$. (1)
 l . $l = 0$ $l = 1$,
, (1) p^{k+l+1} ,
 p^{k+l} , $p^{k+l} \parallel a^n - 1$.
, $l = 0, 1, 2, \dots, t-1$ $l = t$.
 $l = 1$, $p^{k+1} \parallel a^p - 1$. , $p^{t-1} \parallel N = \frac{n}{p}$,
 $A = a^p$ N
 $p^{k+t} = p^{(k+1)+(t-1)} \parallel A^N - 1 = (a^p)^{\frac{n}{p}} - 1 = a^n - 1$. , -
 l .

2. $n \in \mathbb{N}$ $2^{3^n} + 1$ 3^{n+1} ,
 3^{n+2} .
 $3^1 \parallel (-2) - 1$ $3^n \parallel 3^n$. 4
 $3^{n+1} \parallel (-2)^{3^n} - 1 = -(2^{3^n} + 1)$.

2. $u = u(p, a)$ $p^k \parallel a^u - 1$, $u(p^{k+l}, a) = p^l u$.
 4 , a^u .
3. $p > 2$, $p^k \parallel a - b$ $p^l \parallel n$.
 $p^{k+l} \parallel a^n - b^n$.
 $b \in \mathbb{Z}$, $p \nmid b$, c $bc \equiv 1 \pmod{p^{k+l}}$.
 4 a ac . $p^k \parallel ac - 1$ $p^{k+l} \parallel (ac)^n - 1$.
 $p^k \parallel a - b$ $p^{k+l} \parallel a^n - b^n$.
 $p = 2$ 4 . $2 \parallel 3 - 1$ $2 \parallel 2$, $2^3 \mid 3^2 - 1$.
 $p = 2$.

5. $a \neq 1$ $2^k \parallel a^2 - 1$.
 $l \geq 0$ $2^{k+l} \mid a^n - 1$ $2^{l+1} \mid n$.
 4 .

3.
 1 $u(a, n) \mid \{(n)\}$.
 n a $u(a, n) = \{(n)\}$?
3. $n \in \mathbb{N}$ $\text{NZD}(a, n) = 1$. $u(a, n) = \{(n)\}$.
 a n .
6. a n , $\{a, a^2, \dots, a^{\{(n)\}}\}$.
 n .
 4 $\text{NZD}(a, n) = 1$.
 $\text{NZD}(a^i, n) = 1$, $1 \leq i \leq \{(n)\}$. a^i , $i \in \{1, 2, \dots, \{(n)\}\}$
 n (?). $\{(n)\}$
 n ,
 $\{a, a^2, \dots, a^{\{(n)\}}\}$.
 $\{a, a^2, \dots, a^{\{(n)\}}\}$ n .

1. p . $n \mid p - 1$,
 $x^n \equiv 1 \pmod{p}$ n .

$$\begin{aligned}
& \mathbf{2.} \quad n \in \mathbb{N}, \quad \sum_{d|n} \{(d) = n. \\
& \quad \cdot \quad \quad \quad d, d | n, \quad \quad \quad x \in \{1, 2, \dots, n\} \\
& \quad \text{NZD}(x, n) = \frac{n}{d} \quad \quad \quad \{(d). \quad \quad \quad , \text{NZD}(x, n) = \frac{n}{d} \\
& \quad x = \frac{n}{d} \cdot k, \quad k \in \{1, 2, \dots, d\} \quad \text{NZD}(k, d) = 1, \quad \quad \quad k \quad \quad \quad \{(d). \\
& \quad \quad \quad \cdot \quad \quad \quad \{(d), \quad \quad \quad d | n \\
& \quad x \in \{1, 2, \dots, n\}, \quad \quad \quad \sum_{d|n} \{(d) = n. \\
& \quad \mathbf{7.} \quad \quad \quad p \quad \quad \quad p. \\
& \quad \cdot \quad \quad \quad d \quad \quad \quad p-1 \\
& \quad \{(d) \quad \quad \quad \mathbb{Z}_p \quad \quad \quad (p) \\
& \quad \quad \quad d. \quad \quad \quad d=1. \\
& \quad \quad \quad \cdot \quad \quad \quad p-1 \quad \quad \quad d. \quad \quad \quad 1 \\
& \quad \quad \quad \cdot \quad \quad \quad d \quad \quad \quad \mathbb{Z}_p \quad \quad \quad d. \\
& \quad \quad \quad \cdot \quad \quad \quad d \quad \quad \quad \{(m) \\
& \quad \quad \quad m, \quad \quad \quad m \quad \quad \quad d \quad \quad \quad 2 \quad \quad \quad d \quad \quad \quad d. \\
& \quad d - \sum_{d>m|d} \{(m) \quad \quad \quad d, \quad \quad \quad 2 \quad \quad \quad d - \sum_{d>m|d} \{(m) = \{(d). \\
& \quad \mathbf{4.} \quad \quad \quad \{(p-1) \quad \quad \quad p. \\
& \quad \cdot \quad \quad \quad 7. \\
& \quad \mathbf{5.} \quad \quad \quad p \quad \quad \quad n \in \mathbb{N}, \quad \quad \quad a \\
& \quad \text{NZD}(a, p) = 1 \quad \quad \quad p | a^n - 1, \quad \quad \quad p-1 | n. \\
& \quad \cdot \quad \quad \quad a = u, \quad \quad \quad u \quad \quad \quad p. \\
& \quad \mathbf{8.} \quad \quad \quad p \quad \quad \quad n \in \mathbb{N} \quad \quad \quad - \\
& \quad \cdot \quad \quad \quad p^n \quad \quad \quad 2p^n. \\
& \quad \quad \quad \cdot \quad \quad \quad 6 \quad \quad \quad u \quad \quad \quad p. \\
& \quad \quad \quad \cdot \quad \quad \quad u, u+p \quad \quad \quad p^2, \\
& \quad \cdot \quad \quad \quad \{(p^2) = p(p-1) \quad \quad \quad p^2. \\
& \quad p-1 \quad \quad \quad p, \quad \quad \quad p^2 \quad \quad \quad p-1, \\
& \quad \quad \quad p-1 \quad \quad \quad p(p-1). \quad \quad \quad u \quad \quad \quad u+p \\
& \quad \quad \quad p^2, \quad \quad \quad u^{p-1} \equiv (u+p)^{p-1} \equiv 1 \pmod{p^2}. \quad \quad \quad , \\
& \quad \quad \quad (u+p)^{p-1} - u^{p-1} \equiv (p-1)pu^{p-2} \not\equiv 0 \pmod{p^2}, \\
& \quad \cdot \quad \quad \quad u \quad \quad \quad p^2. \quad \quad \quad u \\
& \quad \quad \quad p^n. \quad \quad \quad p \quad \quad \quad u^{p-1} - 1, \quad \quad \quad 4 \quad \quad \quad ,
\end{aligned}$$

$$\begin{aligned}
& p^n \mid u^m - 1 \quad p^{n-1}(p-1) \mid m, \dots \quad u \quad p^n \\
& \{ (p^n), \quad u \quad p^n. \\
& \quad , \quad \{ (2p^n) = \{ (p^n), \\
& p^n \quad 2p^n. \quad , u \quad u+p \\
& \quad 2p^n. \\
& \quad , \\
& \quad n, n \in \mathbb{N}.
\end{aligned}$$

$$\begin{aligned}
& \mathbf{9.} \quad n, n \in \mathbb{N} \quad n = p^k \\
& n = 2p^k, \quad p \quad k \in \mathbb{N}, \quad n \in \{2, 4\}.
\end{aligned}$$

4.

$$\begin{aligned}
& \mathbf{1.} \quad , \quad \text{NZD}(a, n) = 1 \quad n = p_1^{a_1} p_2^{a_2} \dots p_t^{a_t} \\
& \quad n, \quad a \quad n \\
& \quad a \quad p_i^{a_i}, i = 1, 2, \dots, t. \\
& \quad a \quad p_i^{a_i} \quad k_i, k \quad a \quad n \\
& m = \text{NZS}(k_1, k_2, \dots, k_t). \quad , \quad a^k \equiv 1 \pmod{n}
\end{aligned}$$

$$\begin{aligned}
& a^k \equiv 1 \pmod{p_i^{a_i}}, i = 1, 2, \dots, t, \\
& k_i \mid k, \quad i = 1, 2, \dots, t, \quad \dots \quad m \leq k. \quad , \\
& a^{k_i} \equiv 1 \pmod{p_i^{a_i}}, i = 1, 2, \dots, t
\end{aligned}$$

$$\begin{aligned}
& a^m \equiv 1 \pmod{p_i^{a_i}}, i = 1, 2, \dots, t, \\
& a^m \equiv 1 \pmod{n}. \quad , \quad k \leq m, \quad k = m,
\end{aligned}$$

$$\begin{aligned}
& \mathbf{2.} \quad n, a > 1 \quad , \quad n \mid \{ (a^n - 1). \\
& \quad , \quad a^n \equiv 1 \pmod{a^n - 1} \quad a^m \not\equiv 1 \pmod{a^n - 1}, \quad 0 < m < n.
\end{aligned}$$

$$\begin{aligned}
& \mathbf{3.} \quad a, b \in \mathbb{N} \quad d = \text{NZD}(a, b). \quad , \quad n \mid \{ (a^n - 1). \\
& \quad \frac{b}{d} \quad , \quad \text{NZD}(n^a + 1, n^b - 1) \leq 2.
\end{aligned}$$

$$m = n^d, a = dx, b = dy. \quad y$$

$$n^a + 1 = n^{dx} + 1 = m^x + 1, n^b - 1 = n^{dy} - 1 = m^y - 1.$$

$$\begin{aligned} \text{NZD}(m^x + 1, m^y - 1) = l. \quad l > 1 \quad k \quad m \quad l \quad (\\ \text{NZD}(m, l) = 1), \quad m^y \equiv 1 \pmod{l} \quad k | y, \\ k \quad , \quad m^x \equiv -1 \pmod{l} \\ m^{2x} \equiv 1 \pmod{l}, \quad k | 2x \quad k \quad k | x. \quad , \\ \text{NZD}(x, y) = 1 \quad k \quad x \quad y, \quad k = 1. \quad , k = 1 \\ m \quad l \quad m \equiv 1 \pmod{l}, \quad m^x \equiv 1 \pmod{l}. \quad , m^x \equiv -1 \pmod{l} \\ 2 \equiv 0 \pmod{l}, \quad \dots l \leq 2. \end{aligned}$$

$$4. \quad a \in \mathbb{N} \quad p \quad q$$

$$\begin{aligned} a^p \equiv 1 \pmod{q}. \quad , \quad q \quad a-1 \quad q = 1 + 2np. \\ , \text{NZD}(a, q) = 1. \quad k \quad a \quad q. \quad - \\ 3.4) \quad k | p \quad p \quad , \quad : \\ 1) k = 1 \quad a \equiv 1 \pmod{q}, \quad \dots q | (a-1), \\ 2) k = p \quad k | \{ (q) = q-1, \dots p | q-1. \quad , \quad p \quad q \quad , \\ q-1 \quad 2p, \quad q = 1 + 2np. \end{aligned}$$

$$5. \quad p \quad q \quad 2^p \equiv -1 \pmod{q}. \quad ,$$

$$\begin{aligned} q = 3 \quad q = 1 + 2np. \\ . \quad p = 2, \quad q = 5, \quad \dots q \quad 1 + 2np. \quad p > 2. \\ , q \neq 2. \quad q = 3, \quad 2^p \equiv (-1)^p = -1 \pmod{3} \quad . \quad q > 3. \\ 2^p \equiv -1 \pmod{q} \quad 2^{2p} \equiv 1 \pmod{q}. \quad , \quad k \\ 2 \quad q \quad 2p, \quad : \\ 1) k = 1 \quad 2 \equiv 1 \pmod{q}, \quad \dots q = 1, \quad . \\ 2) k = 2 \quad 2^2 \equiv 1 \pmod{q}, \quad \dots q = 3, \quad . \\ 3) k = p \quad 2^p \equiv 1 \pmod{q}, \quad 2^p \equiv -1 \pmod{q} \quad q = 2, \\ 4) k = 2p \quad k | \{ (q) = q-1, \quad 2p | q-1, \\ q = 1 + 2np. \end{aligned}$$

$$6. \quad , \quad \text{NZD}(x, y) = 1,$$

$$x^{2^n} + y^{2^n} \quad 2^{n+1} m + 1.$$

$$\begin{aligned} . \quad p \quad x^{2^n} + y^{2^n}, \\ \text{NZD}(x, y) = 1. \quad , \quad p \nmid y, \quad p | (x^{2^n} + y^{2^n}) \\ p | x, \quad \text{NZD}(x, y) = 1. \quad z = xy^{p-2}. \end{aligned}$$

$$\begin{aligned}
 x^{2^n} + y^{2^n} &\equiv 0 \pmod{p}, \\
 (y^{p-2})^{2^n} z^{2^n} + (y^{p-1})^{2^n} &\equiv 0 \pmod{p}, \\
 y^{p-1} &\equiv 1 \pmod{p},
 \end{aligned}$$

$$z^{2^n} \equiv -1 \pmod{p},$$

$$z^{2^{n+1}} \equiv 1 \pmod{p}$$

$$\begin{aligned}
 k & \mid 2^{n+1}, & k &= 2^m, m \leq n+1 \\
 m &\leq n, & z^{2^m} &\equiv 1 \pmod{p}, & 2^{n-m} \\
 z^{2^n} &\equiv 1 \pmod{p}, & z^{2^n} &\equiv -1 \pmod{p}, & p \neq 2.
 \end{aligned}$$

$$, m = n+1 \quad k = 2^{n+1}.$$

$$k = 2^{n+1} \mid \{(p) = p-1, \dots, p = 2^{n+1}m+1.$$

$$\begin{aligned}
 7. & \quad 1, 2, \dots, 100 & - \\
 & 10 \times 10 & , & 2 \times 2 & - \\
 & & & 101. & \\
 & u & & 101. & i - \\
 j - & , i, j = 1, 2, \dots, 10, & & & u^{10i+j} \\
 101. & & & i, i+1 & j, j+1,
 \end{aligned}$$

$$k \equiv 10^{10(2i+1)+(2j+1)} \pmod{101}.$$

1. Andreescu, T., Andrica, D. Number Theory – Structures, Examples and Problems, Birkhauser, 2009
2. Burton, D. M. Elementary Number Theory, Wm. C. Brown, Dubuque, Iowa, 1994
3. Niven, I., Zuckerman, H. S. An introduction to the Theory of Numbers, John Wiley & Sons, Inc., New Yor, 1980
4. , . (2004). , ,
5. , .. , . (2016). , ,
6. , .. , . 1 - ,
7. , , 2011
7. , .. , .. , . , 2015